
  

• 

  

 

• 

 

 

• 

 

 

• 

• 

• 

• 

• 

• 

• 

• 

 



 

• 

• 

• 

 

 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

 



 

 

• 

• 

• 

• 

• 

µ

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 



 

 

 

s

m

run

rise
m ==

 
2

/
/

sm
s

sm

run

rise
m ===

 

 

m

s
s

m

LxWA

=

=

=

 

 

 

julesenrgy

ms

LxWA

=

=

=

 

 

skgm

Ns

LxWA

/=

=

=

 

 

m

N

run

rise
m ==

 

 

J

Nm

LxWA

=

=

=

 

• 

• 

• 

• 

• 



 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

 



 

• 

• 

• 

• 

• 


